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NORTH CAROLINA STATE UNIVERSITY Department of Mathematics

MA121-002 Quiz#2  Due Thursday, November 15 (at the beginning of class) J. Griggs

Three points per question (1 point for following directions); you are to work individually on
this quiz; it is permissible to use your-book and/or notes from the class. Show all work and any

graphs/diagrams on this sheet. (use the back, if necessary; no additional pages, please)

1.) Find the area bounded by the two curves: f(x)=x"—x-5 and g(x)=x+10 .

2.) Find the average value of the function f(x)=x"-x+1 on[0,2] .

3.) Integrate using substitution: j(215 -3y t*dr
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